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QUESTION 1

Examine the RMAN commands executed in your database: 

RMAN>CONFIGURE DEFAULT DEVICE TYPE TO disk; RMAN>CONFIGURE DEVICE TYPE DISK BACKUP TYPE
TO BACKUPSET; RKAN> CONFIGURE CONTROLFILE AUTOBACKUP ON; 

You issue the command: RMAN> BACKUP DATABASE; 

Which two statements are true about the command? 

A. It performs a log switch. 

B. It creates compressed backup sets by using binary compression by default. 

C. It backs up only the used blocks in data files. 

D. It backs up data files, the control file, and the server parameter file. 

E. It creates a backup of only the control file whenever the database undergoes a structural change. 

Correct Answer: CD 

C: RMAN backup sets automatically use unused block compression. 

D: If CONFIGURE CONTROLFILE AUTOBACKUP is ON (by default it is OFF), then RMAN automatically backs up the
control file and server parameter file after every backup and after database structural changes. Not E: spfile is also
backed up. References: http://docs.oracle.com/cd/B28359_01/backup.111/b28273/rcmsynta007.htm#i1015382
http://docs.oracle.com/cd/B19306_01/backup.102/b14192/bkup003.htm#i1009642 

 

QUESTION 2

Identify three scenarios in which RMAN will use backup sets to perform active database duplication. 

A. when the duplicate ... from active database command contains the section size clause 

B. when you perform active database duplication on a database with flashback disabled 

C. when you specify set encryption before the duplicate ... from active database command 

D. when the number of auxiliary channels allocated is equal to or greater than the number of target channels 

E. when you perform active database duplication on a database that has read-only tablespaces 

Correct Answer: ACD 

Starting with Oracle Database 12c Release 1 (12.1), RMAN can use backup sets to transfer the source database files
that need to be duplicated. The backup sets are transferred over the network to the auxiliary database. Backup sets can
be encrypted for additional security. Specify the encryption algorithm by using the SET ENCRYPTION ALGORITHM
command before the DUPLICATE command. RMAN uses backup sets to perform active database duplication when the
connection to the target database is established using a net service name and any one of the following conditions is
satisfied: The DUPLICATE ... FROM ACTIVE DATABASE command contains either the USING BACKUPSET, USING
COMPRESSED BACKUPSET, or SECTION SIZE clause. The number of auxiliary channels allocated is equal to or
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greater than the number of target channels allocated.
Reference:http://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV298 

 

QUESTION 3

You want to consolidate backup information and centrally manage backup and recovery scripts for multiple databases
running in your organization. 

Which two backup solutions can be used? 

A. RMAN recovery catalog 

B. RMAN Media Management Library 

C. Enterprise Manager Cloud Control 

D. Enterprise Manager Database Express 

E. Oracle Secure Backup 

Correct Answer: AC 

Enterprise Manager allows a centralized control of database backups. It is possible to set up and schedule RMAN
backups for all the databases in a large company, use a consistent backup strategy, and refer to all past RMAN output
logs at any time, since they are stored in the Enterprise Manager Cloud Control repository. There is no need to use a
central RMAN catalog, because information about the backups is centrally available from Enterprise Manager. And with
the group backup feature new to Enterprise Manager Cloud Control 12c, it can be even faster to set up RMAN backups
for all the databases-even if there are thousands-that are part of an Enterprise Manager group. References:
http://www.oracle.com/technetwork/articles/oem/havewala-rman-em12c-2104270.html 

 

QUESTION 4

Which two statements describe the relationship between a window, a resource plan, and a job class? 

A. A window specifies a resource plan that will be activated when that window becomes active. 

B. A window specifies a job class that will be activated when that window becomes active. 

C. A job class specifies a window that will be open when that job class becomes active. 

D. A window in association with a resource plan controls a job class allocation. 

E. A window in association with a job class controls a resource allocation. 

Correct Answer: AE 

Windows work with job classes to control resource allocation. Each window specifies the resource plan to activate when
the window opens (becomes active), and each job class specifies a resource consumer group or specifies a database
service, which can map to a consumer group. A job that runs within a window, therefore, has resources allocated to it
according to the consumer group of its job class and the resource plan of the window. Reference:
http://docs.oracle.com/database/121/ADMIN/schedover.htm#ADMIN12366 
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QUESTION 5

Your database supports an OLTP workload. Examine the output of the query: 

SQL> SELECT target_mttr, estimated_mttr FROM v$instance_recovery Target_mttr estimated_mttr 

0 76 

To ensure faster instance recovery, you set the fast_start_mttr_target initialization parameter to 30. 

What is the effect of this setting on the database? 

A. Automatic checkpoint tuning is disabled. 

B. The frequency of log switches is increased. 

C. The overhead on database performance is increased because of frequent writes to disk. 

D. The MTTR advisor is disabled. 

Correct Answer: C 

Reference: http://docs.oracle.com/cd/A97630_01/server.920/a96533/instreco.htm 
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